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Third Semester B.Com. Degree Dramiaatlon,
August/September 2O21

(CBCS Scheme)

Commerce
Paper 3.3 - CORPORATE ACCOUXTING
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Time: 3 Hoursl [Max. Mzrks:7o

Instructions to Candidates : Anstuer slauld be u.titten completelg either in English or
in Kannada.

SECTION - A/aAarl - r

Answer any FIVE sub-questions. Each question carries 2 marks : (5 x 2 = 1Of

ob$mdd,o o& {-d".ri€d uug0l {Solrodda*2 oodrleb:

(a) What is complete underwriting?
iodra$F e)o(a Cddi ;oddedc?

(b) What is the maximum rate of commission payable to an underwriter to
underwrite shares and debentures of a company as per Companies Act?
dododd drolr$, {,rad dod&otr dedcrldc drd,l se)Sqrleiq ooeb qJddi dsdeD
oOcA qJddn doa_{rl aadSialsad rio{doa;, d,ogd$J

(c) What ratios are normally used to apportion pre and post incorporation
incomes and expenses?

doolaeBdo$ {pdr dcd; doddd ermob d}$ odFrletdixadndrmh doajel olod
s$redriddi?Jd-;oSO?

(d) Mention any four factors determining the value of Goodwill.

SeEr dieru JQ 0C r0$d ol>{mdd a ueer>+ sodridd{ otxr_ea)3.

(e) State any two methods of valualion of shares.
{ed:rld dPoodd2L dodr €o6olr:d oladoadd.o Ddd) seadriddt.gdS.

(0 Given the closing capital employed < 4,00,OOO and the net profit for tJ:e
current year is { 1,60,000, what is tJre average capital employed?
&odmd sog$J Dod;rrd dr. 4,OO,OOO $d2 $dd ddrd odrd eDq, d,o. 1,60,000,
sd.d ioaio d-oan:d arodaaddd"lf

(g) What is Corporate dividend tax?
dodool) enzrraod dort aoddedo?
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SECTION-B/eeod- A

Answer any TEREE questions. Each correct question carries 6 marks :

13x6=181
olDdcraddJa dr.d) 9 Jded o80n e,3 ioolDd o.r1d r6 eodrldr:

GRN company issued prospectus inviting applications for 3,5O,000 Equity shares ^
of { 1O each. The whole issue was fully underwritten by A - 14O0OO shares
B - 1O5OO0 shares, C - 70000 shares and D - 3500O shares.

Applications were received for 315OO0 shares of which marked applications
were : A - 154O0O shares, B - 77OOO shares, C - 63000 shares and
D - TOOO sha:es.

2

3

Calculate the liability of the underwriter.

GRN dodoob dn. 10 derob dr. 3,50,000 sdnd, ded;ridd.1 oe6d;. A, B, C, ;iltr
DdddJ {e&ded {Boroh qJdJiilnd-al1d. sddo€ A - 140O0O ded;rld;

B - 105000 Aedrrl$, C - 70OOO {ed)rlcb drq D - 35OOO ae$rlddiqjddf,to€r,6Ed.

ddootD dp. 315000 {edrrldil rrd. lcdo}dl rr$rlC d.,E rbd}CJ dDad sdrrldr *
tlddod A - l54O0O Ad)rldr, B - 77OOO AedJrldJ, C - 63000 Ae$rlsb drdl ,1
D - TOOO ded)rlcb.

$OcA gJddi6add oddc, 6-azrao0obd{ dodr &ad)O.

Sanjana Company was incorporated on 3O.9.2O19 to acquire the business of
Vikas as from 1.4.2019. Ttre accounts for the year ended 31.3.2O20 disclosed the
following :

(a) There was a gross profit of ( 2,40,O0O

(b) Ttre sales for the year a.tnounted to t 12,00,000 of which ( 5,4O,0OO were

for the Iirst six months.

(c) The expenses debited to profrt arrd loss account included Directors fees
< 15,000, Bad debts t 3,600, Advertising < 12,OO0 (under a contract
amounting to < l,OO0 p.m), Salaries and general expenses < 64,000,
preliminary expenses written off ( 5,OOO and Donation to political party
given by the company { 5,0OO.

Prepare a statement showing the amount of profit made before and after
incorporation .
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&6aF.ddd ddd6adddre 1.4.20f9ood ooeand iorsdd dodoolD 3O.9.2O19dodJ

doeodedoloordr. 31,.3.2o201(Jaidrtood aa&rd dd* dr{drid {,r:ed :

(a) dod0ob dqo eDCd d,o. 2,4O,OOO.

(b) r,rti} dD@trd tug{, ar. 12,00,000adrd rrddO l@ujd dadFd edeob

. d>oedl dr. 5,40,000 q$dd.

(c) eraC $dl d*srd,f d0t,tr dDAd Jafido 0derddd drer* da. 15,000, 8lro,oerdetr

' dr. 3,600, ls&(@dJ do. 12,OOO (a-d..odd {rad Eorl€r! dn. 1,OOO d.od}, ioard

$Q odod, Jt{iCr dn. 64,000, E-9Csd ddJiCr d.o. s,00o d}4 do60ob)

orrEeob d3ld, &ead dedd d.o. 5,O0O.

iooLoeado! {pJr 3.)d; doid dend oaCd {dDfeddtCoeods deCdo$d).tdolDOt

Kushi Ltd has invested a sum of{ 24,00,000 in her own business which is very

profitable one. Ttre annual profrt earned from her business is { 4,8O,OO0 which
included a sum of < 80,000 received as compensation for acquisition of part of

her business. Ttre money could have been invested in deposits for a period of 5

yea.rs at 107o interest and herself could eam < 57,600 per arulum in alternative

employrnent considering 2o/o fajr compensation for the risk involved in the

business.

Calculate the value of Goodwill of her business on capitalization of super profits

at normal rate of return of l2o/o.

elA noz.DJJ& d*tir"d ;sadDddq do. 24,OO,OOO arcdodddl doaoa-d. ud: erad-drd

no{ofnndr.ld. do$0o$ e&Fd cDCd d.o. 4,80,0OO, t ddq d.o. 8O,OoOrld d05ad

*o$dl ieodooad (doaad$ io{ob t"odr crarlddt dtld) d,noad-r$d8J $&ddd)

alodaadJd,:n rjed dd ddraa lodod 5 sdFrld t,dQ,t dc'dec dDadd sJdr do$oFoJJ

oudn erldd ;ra&rd d.o. 57,600 JddDd ddolJa)dr&. (ora-addd noqrend d* ?i,ol']

d06adt+ de. 2 dorlsCa)

* io-;5ob SeOr dPgJdl a$*de oEC ood-Decddt?d sQaddo-dod toad': a-artn odnd,

JDdrdel"rdd dtdaE 12 nod) ?Ida;r
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5 state the heading under which tJ:e following items are shown in the Balance

sheet of the company?

(a) Live stock

(b) Provision for taxation

(c) Bank overdraft

(d) Goodwill

(e) Proposed dividend

(0 Share premium

dr dddod{.rritid1 o6ad ddrdd-obJ ge&Fdob8ob0 dae0i;"r0?

6

(a) tsd:oad.lrldr

(b) doild $deD

(c) aradod t"dd6arqJ

(d) EegF dPod

(e) i.ot33d eDryaog

(f) Aed) qca)ol)o

Following information related to Uday Ltd.

36000, 10% preference shares of { 1O0 each

45OO0 equity shares of{ 10O each

Average profits before tax

Rate of tax 387o

Transfer to be made to reserve 2O%o

Normal rate of return 15olo

< 36,00,000

{ 45,00,000

< 29,03,220

Ascertain the value of equity shares under yield method.
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dsdod iodfi$ @dot OobsrlJ aoar no{rt ioarcffi :

dn. 100 dlDrJdob 36000, 10% s+a tc&rldJ d.o. 36,00,000

d.o. 100 dDa)derob 4500O ndnd, dd)rletu dr. 45,00,OO0

d0rt dldn iuai0 enqJ dra.29,O3,22O

d0rl dd 38olo

08d dnaFdJizJeadd.r 20%

sqadre eDqJ dd 15%

uu?$ aOadAod nd.nd, {ed;rid diDodddt dodr &os)O.

SECTiON-C/sQarl-:,

Answer a:ry THREE questions. Each question carries 14 marks : l3 x L4 = 421

ob$mddn dr.e& e, 4rl€d ou$O$. {,eohod: d/dJ'l 14 eodridJ:

7. Somz Ltd. invited applications from public for 1OOOO0 shares of < 10 each at a
premium of { 6 per share. The entire issue was underwritten by underwriters

Pavi, Kavi, Ravi and Navi to the extent of 3Oo/o, 3Oo/o,2OVo 2O7o respectively

with the provision of firm underwriting of 3O0O, 2OO0, 1000 1000 shares

respectively. The underwriters were entitled to the maximum

tJle provisions of the Companies Act.

(a) Firm underwriting as marked applications.

(b) Firm underwriting as unmarked applications.

(c) Find out ttre commission payable to underwriters.

as per

The company received applications for TOOOO shares from the public, out of

which applications for 19O00, 10000, 21OOO and 8000 were marked in favour of

Pavi, Kavi, Ravi and Navi respectively.

Calculate the liability of each one of the underwriters treating
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Particulars

To Rent and Taxes

To Insurance

To Electricity charges

To Salaries

To Directors fees

To Auditors fee

To Commission

To Advertisement

To Discount

633.21

Particulars

By Gross profrt b/d

8

ined, dod0 dJo. lod 1OOOOO DdDdd ded)deil dr. 6 qe$oldrd-ooail DdF60dQod

rrdF rrsDjpnd. {AgF oeadobd{ d$, d$, d$ $dl d$ ooea dddimdd.r drdmh 30olo,

3Oo/o, 2Oo/o drd.l 20%dod $DeA qrddi dDA6r.d. r3.6drt g$aan 3000, 2OOO, 1OOO drdl

1000 d(drri{d 0t6d oOeA qrddnoldl dndsahd, dod&r'id *olrsl) &zroCdrld {,ad
oO(A qJdJioDdod rlo{doa;, dnqdd{ddobeD gdroafld:qd. 1

dod& DdFar&dood r"t^ir.r TOOOO de&d€d sdF Doad)"r uddd rbdd-r dDdcDd gdErlct)

dr dddodo3d. ds - 19OO0, ds - 1OOO0, ds - 21000 $dl ds - 8000 *&rl$.

dr dree.r.od $ddrl€od $OeA CddiEddd ?"Uqatrdzroooo$dldddodal dodr Soad)a.

(a) &9ard e)DeA qJddiolfrr.r rirdr$ dDAdH erdFrldod JErldiE)&.

(b) &gaJd $OeA qJddiobdr4 rbdrdr dDadd edFridql doddnrddr.

(c) dod& uaoJ:o$ {,rad {ddioad0rt Fd5gidctad dere-d d.ogddt dod; &Eof.

Sathvik Ltd, was incorporated on 1.8.2O19 to take over the business of Prathish

as a going concern from 1.4.2O19. The profit and loss account for t1:e year 1
ending on 31.3.2O2O is as follows :

Profrt and toss A/c for t}te year ended 31.3.2O2O

t
24,OOO

6,OOO

4,800

72,OOO

6,200

3,OOO

12,O00

8,000

7,OOO

{

3,10,000
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Particulars

To Offrce e4penses

To Carriage

To Bank charges

To Preliminary expenses

To Bad debts

To Interest on loan

To Net profit

d DaAd $d1 d0drido

r1 5$

11 &d)dc'6 &g.ridJ

rl ioud

Il odeFddd *ordcir

d dd, d0dneCdd $er*

r'l deD_e

d o&uad:

d oolD@)g

63321

Particulars

d)od -aJAoO eraC

15,000

6,000

3,000

13,OOO

4,000

6,OOO

1,20,000

24,OOO

6,O00

4,800

72,OOO

6,200

3,OO0

12,000

8,000

7,OOO

3,10,000

3,10,O00 3, ro,ooo

The total turnover for tJ:e year ending 31.3.2O20 was ( 1O,OO,0OO divided into
< 3,O0,00O for the period upto 1.8.2O19 and ? 7,OO,OOO for the remaining period.

Ascertain the profits earned prior to and post incorporation period.

Dgdd 0obs), dod0ob AdDod 1.8.2019do& {3eddd& ddilg&J Jrdaadddl6mod

1.4.2019dO-doltildrdood: d-oeriel ioolaedienftd. dod0o$ eraC $d? d{1.l$ Amod

3 l.3.2O2O6rE6dI'Lo$eJ Jdrd dddodoSJ :

cDC $d? ddtroa3 doddn$ld JCF{ 3 1.3.2o2o
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$ddrldJ

d dqreo ddJld)

d mro# drj
d

araro# dcoa

d mrdoQd dtffldc

d dej FeoridJ

rt DC)d d)ce, a)A

tt odds, erDC

Liabilities

Share capital

5O0O equity shares of

{ lOO each

3000, 15% preference

shares of ( 100 each

General Reserve

Profit and l,oss A/c

Sundry creditors

63321

aJdddJ

Assets

Fixed assets

Stock

Debtors

Cash and Bank

15,000

6,O00

3,000

13,000

4,OOO

6,000

1,20,000

Rs.

s,00,000

3,00,000

40,000

80,000

80,000

I

3,10,o00 3,10,000

31.3.202Od* d,odil,ood ddFd ?"tJ* d&;Dtr) dra. Io,OO,oOO t,hd.)- 1.8.2019dd0il

do. 3,O0,0O0 d)q sudd t d6d dn. 7,OO,O0O.

iooLoetsdo$ drdF drd.l doddd eraCd.dtdod) &Ao$0.

9. Balance sheet of Siri Ltd, as on 31.3.2O2O is as under :

Rs.

5,OO,OOO

1,75,000

2,25,OOO

r,oo,ooo

10,00,00010,o0,ooo
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The profrts of the company (before providing for taxation at 35%) and the rate of
dividend declared in respect of the part 5 financial years are as under :

\, Ascertain the value of Goodwill under :

(a)

(b)

(c)

5 years purchase of super profits

Capitalisation of super profits

Annuity of super profits taking annuity factor of Re. 1 for five years at

10% as I 3.78.

Buood 3l.3.2o2ododr .:r0 dod&oL: t Frd d-dr derdodogd:

?i;dud.OridJ dra. ertrldJ

Financial year

2015-16

20t6-t7

20L7-18

2018-19

2019-20

Profrt (Q

l,35,OOO

1,55,OOO

1,70,000

1,65,000

1,80,O00

ded: arod;rad d.a. 100d 5000

;radDdr, dedrridJ

dn.100d 3000,

t5% udroa dedrdd.>

sdnd, aredel &8

oa{-d{a:ad

ddrid.)

Rate of Dividend

8o/o

lOo/o

l2o/o

l5o/o

l5o/o

3,OO,000

40,000

80,o00

80,000

10,00,o00

,ooo,005

:rd t t,risiJ

oosodr

absdrldr

arado# srdd

dn.

s,00,000

1,75,O00

2,25,OOO

1,00,000

9lt4

10,00,000
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ddd odr ddFrldO-dO.l Eadgd drdeD (SOd 35%) dodOoi Oldd oa?rrieb drQ oaqraodd

ddrJdc ddhdo&J:

c,QFd dd.F enqrrldr (9 cteryaodd dd

20t5-t6 1,35,000 80/o

2016-t7 r,55,OOO lO% 1
2Ofi-ra l,70,ooo 120/o

2018-t9 1,65,000 150/o

20L9-20 1,80,000 150/o

dr dddod seadd $ec, EcBE dPooJd{dod.:3o6oo6:

(a) 5 ddFrld oudrdoaCd dJrod)d.ocueed erq.dd *)cd 1
(b) uudo*oaCd Dod;Ddcddse (readd Jree,

(c) o)do*ereCd (deFid dd dD. ldd 5 ddFrisro-de.lod z.)Boolrod do. 3.78) dsFid
dd.g.e

lO. Following is tJ:e Balance sheet of Parinidhi Ltd. as on 3lst March 2O2O.

Liabilities Rs. Assets Rs.

Equity share capital Goodwill 1,00,000

4OOO0 equity shares of( 1O Fixed assets 4,5O,0OO

each fully paid 4,00,000 Current assets 1,90,000

Reserve fund 1,00,000 Preliminary expenses 25,000

Profit and Loss A/c 35,O0O

67o Debentures I,OO,OOO

Current liabilities 1,3O,00O

7,65,OOO 7,65,O00

For the purpose of va-luation of shares fixed assets were va.lued at t 5,OO,OOO and
goodwill at ? 1,50,000. There is a necessity of Reserve for Bad debts at lO% on
Debtors oft 75,O0O. It was found that the stock was overvalued by t 9,OOO.

The net profits for the three years were < 69,000, < 71,8OO and T 90,200
respectively after taxation. Out of this profrt 2Oo/o was placed to reserve.

Normal rate of return is 2Oo/o. Compute the value of each equity share under :

(a) intrinsic value method

(b) yield value method

(c) fair value method

to/14
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Boaod 3l.3.2O2OdO_dJr.f d00Q O. d strad dgd ddrl dotlp:

6-a?"rd 0ridJ sndCr

EeOF JSo-
b

:rcDnrid)

do,ndet)

:n.doad Jd rid.r
al

4,00,ooo

1,00,ooo

35,OOO

1,00,000

l,30,ooo

dn.

1,00,000

4,50,000

1,90,000

25,000

dn.

7,65,000 7,65,000

{ed:rlC dflOrrddrEln :eoa&rld dd d,o. 5,00,000 6arl-o EeSF dFo, do. 1,50,O0o

0dAdOnd. d.o. 75,000 3$eJrld $ed de. loddl dddr noca*h $dO0ddeEd 6arto

o'a4d.r dio, do. 9,OOO rrQd dpoddrooAd

ddd dro& ddrrld &doti eaqJ dDd d6dd dodd drdrsah dra. 69,000, d-'4. 71,800 drd;

d,o. 90,200dotd. * enqJdd de. 20 OQil dnaF6#o.rd{d. sudrd)d oqadee eDCd dd

d(. 2od*d8d. {^s deod.

(a) epddrd diero

(b) qibd0 drDod 6arlo

(c) @dol)ol}}i dperodd.:r dodr &Bo:O

1 1. The following is the Trial Balance of Namanth Company Ltd., as ot 31.3.2O2O.

Dr. (t)

dJo. lOd {pDF nodro$red

4O0OO ndod, {drrle$

$cdeD 08

eD?rJ dr+ d{aoaa

60lo merSdrrieb

rrdq r6dz.rd.0ridJ

Particulars

Share capital

Reserve fund

Fumiture

Building

Wages

40,000

80,000

50,ooo

11/t4
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3,00,000
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Particulars

Salaries

Debtors

Bills Receivables

lnterim dividend

Audit fee

Directors fee

Light and water

Printing and stationery

Purchases

Sales

Loose tools

Profit and loss appropriation A/c

Cash at Bank

Forfeited share capital a/c

Calls in advance

General expenses

Goodwill

Stock (r.4.2O19)

Investments

Machinery

Creditors

Return

Bills payable

Cash in hand

Security premium

Dr.F)

20,o00

1,60,OOO

60,oo0

30,000

10,oo0

5,000

10,000

t2,ooo

2,40,OOO

cr.F)

40,o00

20,ooo

50,000

10,000

20,000

10,ooo

95,000

60,ooo

1,50,000

40,ooo

20,000

1,80,OOO

10,000

20,ooo

38,OOO

30,o00

4,80,000

t2lt4

t

t2,20,ooo t2,20,ooo
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Adju strnents :

(a) Stock on 31.3.2O2O was valued of t 90,O0O.

(b) Depreciation on machinery at 1O% and building at Soh per annum.

(c) Provide Reserve for doubtfirl debts at 57o on Debtors.

(d) Transfer { 25,00O to Reserve fund.

(e) Directors recommended dividend at 1O7o for the year.

(0 Make provision for taxation < 10,000.

Prepare Final Accounts of the Company

$$od oobard dodilob oer dts",oJ:r 3l.3.2o2odod: dt dCdodogd. edood oalrdo

rDgoJJd{ Orl6d dDdOobO- odoora :

$ddrldc

ded: alodaad

a)dc))0Q

Sedrcddd$ddr

dqd

d-oO

iood

a])drldJ

Dddecad d:oBde,b

d;frodd enqraod

dd. dodnedd dre.r.

&derddd d.>er,

&edr drd? ardd)

dDdra drd,l FadJDrldJ

r)0caridJ

d)DoDU

68 q:arlridc

eraC $Q d{soolned and

ua,,oEdddrldc

40,000

80,000

50,000

20,ooo

1,60,O00

60,000

30,000

lo,ooo

5,000

10,o00

72,OOO

2,40,OOO

rbeJ F)

40,000

ded tt)

3,00,o00

r,50,ooo

4,80,OO0

13/t4
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&ddrieJ.)

il)tDJ't.oee)) E-dEd dedJ Doddad

dl:orid ddrldc

radnd, Jrlgid,:

EegF;liod

6aBdr (1.4.2Or9)

d-oAdrle"tr

oJntgedddeorld.r

dedrldJ

e'aEoD.,QrldJ

t odzJerad d;oarid:

drldJ

Cd/cd qearolo

(c)

(d)

(e)

(0

abd (<)

10,000

95,OOO

60,oo0

1,50,000

40,o00

20,ooo

38,000

Crc (<)

10,000

20,o00

1,80,000

10,000

20,000

30,000

72,20,OOO |2,20,OOO

dodd d,n8qi :

(a) 6.Dod 31.3.2o20dodr mqdr do. 90,0OO.

(b) du*drld dree, de. sdd,r,o;Jd $* obcf4cddd$rlsi dred d(. loddlnJd€obdt
3dd)O.

aberrld drec, de. sdq rrd.frDdrri.Jd ;Dod€d a)dOA.

$ed()) 08 dD. 25,ooo JrEF@)A.

0deFddd droddolD dc. loddtcD?[rodddtDdgne)) gFd$ dDAd.

t,raob Joilrph d.o. 1O,0OO &)doa.
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